BN VTR E BRBLIOBE 55 8 BESE55)

(7)) [a) B

1. & EH

SR AMi b 3 e IS BT IR S50 1 41 B B A5 LA e R A Rl S 8 3 oy . (S BEF A FD

2. GINIEIBEHL G vl BBl 1 B A0 Al

AN TE) IR SV BB AL (ORI 26 1F . P Rk BB B TR e AT 20% LA 1 (5% 20%) s A E 4k, BR
FREF T 0 T2 S E A

[HER ) “REMESRME”, RAREZE M BRI (AR LA T B R R A A1 H R i A LG A9 ) B — A B
— e, BN E] 20% 003 I EL

C2501 ] F e L 14

I8 __ BRSFa _|

- e B § e § e F e o e @ e 8 e § s @ e B e ) e F e 4 e W e @ e B e

jir.
i 100%

3. it

JE R ARV AE HIS5 41 T 45 18] 4 7 E OB A AT BOSCAR S iy, FLHAS AR5 A 453 B i 2 S B IRV S B O BRI, 2 4R
MR B B (e i 7 A TR 20% DL 1 (5 20%) MIRLE 240 (g0 MabE B, Btb o1
MR LLRISERL s VE BT as o, AR AR — 2 A E AR 122 o S T e b 2 A S B
(3R ) IR S BB TH 5, WIREIS Mt B, PRI 5 22 RS B4R M2 5

(ES17D EETid=q VIR



iy =l | 3. REFRiSH= (200+ 100+42.86) X25%- (&
N )00 £ IREA142. 86X 25%VS42. 8631E) =50

FiAR25%

1A

L il

SyREFI100 | 50% RIAFF{SHi= (500+ 300+75) X30% (GG

vl | £375 X 30%VS753R 1K) =187.5
Eggﬁﬁfﬁ 2. Bﬁ%:#ﬂ%ﬁﬁ}%g@ﬁ; (BESE 1875475 )

s RERNN | ¥ 5001375— (SR 187.575) = 00
SrRE#F300 [ 40%

=== ;-':_f SIS giﬁgﬁmﬂg—ﬁunx 20%=100

Ll 500 , o

riiuc (USRI | 1. C5 BRI AIBIIBI=100X 756 =75

(245 97 AR AR a HA X T

A JE AN TN BUEUR T i — 5 b — B b AR B = CA 2 Al o R A0 45 58 S P SE PRl B A+ 15
HUE K A Z LR AR BLAD X AR kA — 5 E— R BRI S (R AR E R
HE A o

[6lE ] HE AR LB —F A7, HHAE T AT S0%MBEEE, 15 2016 HBiEEN, BAFKRAFE
IFT#34 1000 Ji6, FAFKE LERIFTE N 500 Jit, HEFEBEESN 40%, LEN 35%, HHIET
PR AR BUE FIE CRIRDECRED) 10%, FFEx6 L7084 B B AR 10% ) FiAE BT 15 8% .

[T Y T [ gB AR 15 DA R BE2A =1 (R RBISCHE G R B 40 R

(1) FAF MBS N

OFAF EHEAI TR 500X 35%=175 (JjJ6)

@FAEBGEEFE: 500-175=325 (JiI0)

T AFKRSEANE: 325X 10%=32.5 (JiTt)

@FAE AR 325-32.5=292.5 (J370)

O R4 EERA T IS 292.5X50%=146.25 (J370)

OFFA T BTSSR : 146.25X 10%=14.625 (JiJG)

(2) RFAFIOIBLE L :

OREA & NI A T AR 175X (146.25-+325) =78.75 (JI70)

QOFFA TR B T AT KR GNF T /3%5i: 146.25+175X  (146.25+325) =225 (J570)

ORI : 225X 40%=90 (J570)

@K RPid: BT RAF CAMZEBGER (RHE+EE 93.375 Jiyt (78.75+14.625), KT HEAIRA, M
PR AHEATH S, RIATHE S B4 90 J5 T

OB =] SZBREG LN ) H E BT BBk :  (1000+225) X 40%-90=400 (Jji0)

(450 ) 78 BiRTHE IR, 244 (A Bk A A B LA AT, ASRE BB DL O s i L) 5 4 Ak
1Tt 5



